Exam Number 2054
Question 1:
	ASSETS
	
	

	Cash
	
	$21,000

	Accounts Receivable
	(A)
	$54,000

	Building Cost
	
	$80,000

	Less Accumulated Depreciation
	(B)
	$20,000

	Net Building
	(C)
	$60,000

	Total Assets
	(D)
	$135,000

	
	
	

	LIABILITIES
	
	

	Accounts Payable
	
	$11,000

	Notes Payable
	
	$54,000

	Income Taxes Payable
	(E)
	$0

	Mortgage Payable
	
	$25,000

	Total Liabilities
	
	$90,000

	
	
	

	STOCKHOLDERS' EQUITY
	
	

	Paid in Capital
	
	$30,000

	Retained Earnings
	
	$15,000

	Total Stockholders' Equity
	(F)
	$45,000

	
	
	

	Total Liabilities and Stockholders Equity
	(G)
	$135,000






Question 2
A. First, bankruptcy is a big step that should not be entered into lightly, and which ultimately may fail to “protect the shareholders.” Second, Mackey’s accounts payable are smaller than the sum of their quick assets (cash, accounts receivable and short-term investments). As their only liabilities are their accounts payable, they can easily be met with their quick assets (assuming no substantial problems in collecting accounts receivable or overestimation of short-term investment value), so bankruptcy seems rather premature.  This is doubly so given that they are profitable according to their income statement, even if their profit margin is rather low.

B. This statement is incorrect. Assets always equal Liabilities plus Equity, thus equity is the value of assets left over after all liabilities are satisfied. Put differently, assuming constant assets, any decrease in equity must have a corresponding increase in liabilities. Because Mackey cannot satisfy liabilities from equity, it must satisfy accounts payable (a liability) out of its Assets. As such, the notion that it “can use the $125 in retained earnings” to pay off its accounts payable is patently erroneous.


Question 3
A. Two main sources of cash during 2009:
i. Net Income
ii. Depreciation and Amortization

B. Cash that went out to shareholders during 2008:
In 2008 Wal-Mart paid dividends of $3,586,000,000 and spent $7,691,000,000 repurchasing shares, so total cash that went out to shareholders was the sum of the two, or $11,277,000,000.

C. Gross margin ($ and %) for each of the three years:
	
	2009
	2008
	2007

	Net Sales
	$401,244,000,000
	$374,307,000,000
	$344,759,000,000

	Cost of Sales
	$306,158,000,000
	$286,350,000,000
	$263,979,000,000

	$ - Difference (Net Sales - Cost of Sales)
	$95,086,000,000
	$87,957,000,000
	$80,780,000,000

	% - Ratio (Difference / Net Sales)
	23.70%
	23.50%
	23.43%



D. Total amount of long-term debt as of Jan 31, 2008
While Wal-Mart’s balance sheet lists “Long-term debt due within one year” as well as “Long-term debt,” only the latter is truly a long-term obligation because it is due in more than one year. As such, the total long-term debt as of January 31, 2008 was $29,799,000,000.

E. Shares of common stock outstanding on Jan 31, 2008 and average $ per share paid by investors:
3,925,000,000 shares outstanding as of Jan 31, 2008. Paid in capital is par value plus capital in excess of par value, or $393,000,000 + $3,920,000,000 = $4,313,000,000. Average paid per share = paid in capital / number of shares = $4,313,000,000 / 3,925,000,000 shares = $1.10 paid in per share





Question 4
A. My aunt and cousin
a. Issuing a loan is beneficial because you typically have “guaranteed” periodic payments over the course of the loan. In the event that it goes unpaid, your claim to the company’s assets takes precedence over shareholders’ claims. The downsides are that debt is typically secured by assets, of which an Internet company will have virtually (or literally) none, and if the company takes off your stake does not increase in value. Further, a fledgling company may not be profitable for at least a few years and thus may have considerable difficulty making initial payments. Conversely, as a shareholder you are the last to collect if the company goes bankrupt, but the value of your stake is tied to the success of the company, and as an “owner” you are able to have a say in the management of the business. Thus if it becomes the new Google you can retire and buy a small island in the Caribbean. Given the likely initial difficulty the company will have making payments, the lack of assets, and the fact that an equity stake is tied to the success of the company, I would recommend that you pursue a substantial equity stake.
 
b. Loans (debt) are typically repaid over a period of time in periodic installments. These payments are required, and as a small company you may have considerable trouble making them for the first few years. Failure to pay may result in losing any assets that you have, forced bankruptcy, etc.. If you issue equity (a share of ownership), Auntie will have no claim to payments, etc., but will have some amount of control over the management of the company, and you will owe her certain fiduciary duties. Because your company is unlikely to have substantial assets, the interest on a loan is likely to be relatively high, thereby increasing the amount of each payment were you to go the debt route. In order to provide you a cushion to get off the ground, I would recommend that you give her an equity stake and consider taking on debt when you are better-established and have more substantial assets.

B. Covenants
I was thinking about our conversation earlier, and I wanted to follow up regarding covenants. Perhaps the foremost axiom of investing is that risk is correlated with reward. Issuing a loan is an investment for a bank, and covenants serve to allow them to mitigate the amount of risk to them, and thus lower the interest rate they have to charge to make the investment worth their while. As such, by limiting the risk to the lender the borrower receives the benefit of a lower interest rate. In the event that the covenants are broken, the lender and the borrower then have the chance to reexamine the amount of risk involved and set out a new agreement with adjusted covenants and repayment terms. Thus, covenants benefit both the lender and the borrower.
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